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Without taking a break, the Sanchez family covered 197.4 km in 3.5 hours on the 

highway. Find the distance covered by the family in one hour.

1)

The total area of Mitch’s vegetable garden is 22.95 m2. To grow a variety of

vegetables, he divided the garden into square patches of 2.55 m2 each. How

many square patches are there?

2)

Jerry took 2.5 hours to cycle 30.25 km. If he was cycling at a constant speed

throughout, how much distance did he cover in an hour?

3)

Harriet purchases 1.5 kg of peaches at    4.35. How much does 1 kg of peaches 

cost?

4)

Henry cut a 11.2-kg wheel of cheese into thin, even slices weighing 1.6 kg each. 

How many slices did Henry chop the cheese wheel into?

5)
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